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104 2 1.2 Eine (- i) 2 2 2 9.2 9.2
105 2 2 2 2 2 10 10
106 2 2 2 2 2 10 10
107 2 2 2 1.8 2 9.8 9.8
108 2 2 2 2 2 10 10
109 2 2 2 1.8 2 9.8 9.8
110 2 2 2 1.8 2 9.8 9.8
111 2 2 2 1.8 2 9.8 9.8
112 2 2 2 2 2 10 10
113 2 2 2 1.8 2 9.8 9.8
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201 2 1.6 [%%(F#0) 2 1.8 2 |9.4 9.4
202 2 2 2 2 2 10 10
203 2 2 2 2 2 10 10
204 2 2 2 2 2 10 10
205 2 2 2 2 2 10 1 11
206 2 2 2 2 2 10 10
207 2 2 2 2 2 10 10
208 2 2 2 2 0 8 8
209 2 2 2 2 2 10 10
210 2 2 2 2 2 10 10
211 2 2 2 1.8 2 19.8 9.8
212 2 1.6 [4rite (Ma3g)| 2 2 2 19.6 9.6
213 2 2 2 2 2 10 10
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301 2 2 2 2 2 10 10
302 2 2 2 2 2 10 10
303 2 2 2 1.8 2 9.8 9.8
304 2 1.6 e (Fadg 2 2 2 9.6 9.6
305 2 2 2 2 2 10 10
306 2 2 2 2 2 10 10
307 2 2 2 2 2 10 10
308 2 2 2 2 2 10 10
309 2 2 2 2 2 10 10
310 2 2 2 2 2 10 10
311 2 2 2 2 2 10 10
312 2 2 2 1.8 2 9.8 9.8
313 2 2 2 2 2 10 10
314 2 2 2 2 2 10 10
315 2 2 2 2 2 10 10
316 2 2 2 2 2 10 10
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401 2 2 .8 | 2 2 | 9.8 9.8
402 2 2 2 2 2 | 10 10
403 2 2 2 o | 1.8 | 9.8 9.8
404 2 2 2 o | 1.8 | 9.8 9.8
405 2 2 o | 15| 2 |95 9.5
406 2 2 o | 1.8 | 1 |88 8.8
501 2 2 2 2 o | 10 10
502 2 1.6 |[#u(gss) 1.8 | 1.8 | 2 |9.2 9.9
503 2 L6 |gge(ae) 2 | 1.8 2 |94 9.4
504 2 1.6 |9#5(e o | 1.8 | 1.8 | 9.2 9.2
505 2 1.6 [#uflge) 1.8 | 2 o | 9.4 9.4
506 2 1.6 |#u(fme)| 2 | 1| 7.6 7.6
601 2 1.6 |#u(fize) 1.8 | 1.5 | 1.8 | 8.7 8.7
602 2 2 2 2 2 | 10 10
603 2 1.6 | map(e)| 1.8 | 2 o | 9.4 9.4
604 2 1.6 | ssp(du)| 1.5 | 1.5 | 0.5 | 7.1 7.1
605 2 2 .8 | 1.8 ] 2 |96 9. 6
606 2 L6 |gwes(es)| 1 | 1.8 ] 1.5 | 7.9 7.9




